Math 9 Chapter 6 Check Up Name: f/
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1. Fill in the blanks
co—efﬁc:ent | degree Variable(s)
—0.5x* pz° R, & & ' Xy, 2
5a* 4 ‘ o
2. Fill in the blanks
Number of terms | Co-effi iclent(s) | degree constant
5—2x+3x° - “7; 3 P oy
4a+3b-Tc+1 4 Gty €, 3, <1 / /
Simplify the following
/
/ - Py
3) 40 +50-2 - 8a+a +6 4) 3xy 637 + xp? +;£y+x/y =y’
Sa*—3a + 4 74-‘/1‘;.. 2y - 1) £y’

5) (2n=3)+(n* =n+5)+(~4n’ +6n)  6) (35 5w +1) = (~x 4 7-22)
An-3% $n*-n+s ‘*:,*’7""12 A I -y I SRR/ TR s
~3nT £ 7n 2 4y —n =~ G

7) Find the perimeter of a rectangle 8) Find the length of the missing side, if the
, perimeter is 10x — 8y
below. P = 2L + 2w ‘

2 3X + 4y
2x -1
S5X—7y

el (251 @M%y -;m+@)~(9¢@’

D=2 (340 # 22~ S 4
| ) C(; H) v 4y -2 o - %\/ ~ 3L - Z(ﬂ | P J

= ot 21~A€Y |
9) Find the sum of . 10) How much greater is 3x - 4 than 2x -+ 7?

Y+ X — 3 : -
(fo;y+r 3) and\(4x+}lxy+ ) . /33 ‘4) (22 47)
4(27»5 + A7 ) + (4 A JF;L/:&:’) K i 3 1 -4 - 7o -7

219 +1 -3 F 49 LY+ 5

~J ,) v o~
Ay 4 O% Y




—_ , 43 - 2
11} Find the perimeter

_ ' ?'?L't\ L2 o
+2(3) + (20~ T 1T T
= }}CL, A 3a
a+i a+1
Simplify the following completely.
12) 5x(2xy) 13) (34 )(4ab) 14) 6x(2x—1)
(‘6%@ ~a>b 2ot —6k
15) (2=3a+4a*)(-5a) 16) Find the area of a rectangle with a length
i .3 of X + 3 and length of 2x
~[0 e + 156% - He , :
A= 2x(xt2)
=2 H6k
2 ~25x*y 5 )
17) 12a° +(~4a) 18) o 19) (244’ ~16a)+(84)
1 :
e ’ - 294 "»l o & 7
;Z; - S H _éi-%£ = FJa —2
20) (~10x* + 25x~5)+(~5) 21) A rectangle has an area of 304 —20a and
~lo1E . a width of 10a. What is the length?
LSy S o,
e T - N YN 3
I 3062~ 204 = ({00 ,,
293 ~Sh+/ Joa*_ ggfl =  3oa-7Z
. { O { O
22) (x+2)(x~7) - 23) (2a-5)(a-3) 24) Find the area of the rectangle
0 o with a length of 3x+2 and
5 \ 20" —6a ~So +15 a width of x+4
LT =2
267 ~1la +15
Y S~ 14 \ J'xa—q

BRrAZ
A= (juz)r*l fa)
= gyt 2at 20 t8



